MA103 Quiz #6 (Block II)
This quiz is worth 30 points.  You have 30 minutes.  The use of notes is NOT authorized.  You may use a calculator.
1.  Given that 
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, are 
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 parallel, perpendicular, or neither?  Explain your answer.

2.  Find a non-zero vector that is perpendicular to 
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3.  Find a non-zero vector that is parallel to 
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4.  Given that 
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, find the angle, 
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 in radians.
5.  Find the inverse of 
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.  Verify your answer.

6.  Solve the following system using Row Reduction.  Show each row operation.
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7.  Determine 
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 for the following network with nodes A, B, C, and D.
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